Truth Tables

Simple Truth tables are fairly straightforward.
The problems come when more complex logic

statements are used. Especially when they have
three inputs...

A B AAND B A B AORB
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NOT(A AND B)

A B | AANDB | NOT(A AND B)

1 0
0 1
0 0

Can you also:
e write the notation form for the logic statement?
e draw the circuit diagram? :
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(NOT A) OR B

A B NOT A (NOT A)ORB

1 0
0 1
0 0

Can you also:
e write the notation form for the logic statement?
e draw the circuit diagram? 3
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(A OR B) AND NOT(A AND B)

A B R=AORB | S=NOT(A AND B) RANDS

1 0
0 1
0 0

Can you also:
e write the notation form for the logic statement?
e draw the circuit diagram? :
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A XOR B

A B A XORB

1 0
0 1
0 0

Can you also:
e write the notation form for the logic statement?
e draw the circuit diagram? 5
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(A ORB) AND C

AORB (A ORB) AND C

O | O|l | ~|OO|lOO |~ |~

A C
1 1
1 0
1 1
1 0
0 1
0 0
0 1
0 0
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(A AND B) ORNOT C

R=AANDB | S=NOTC | RORS

A B C
1 1 1
1 1 0
1 0 1
1 0 0
0 1 1
0 1 0
0 0 1
0 0 0
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A AND (B OR NOT C)

NOT C

R=BORNOTC

A ANDR

A
1
1
1
1
0
0
0
0

B
1
1
0
0
1
1
0
0

C
1
0
1
0
1
0
1
0

1 =True
0 = False



